No. of Suppliers participated: 5

No. of Suppliers participa	ated: 5						
Awarded	Supplier	Event - Lot Title	Bid Quantity	Price (SGD)	Total Bid (SGD)	Awarded Quantity (SGD)	Awarded Spend (SGD)
Yes				<u> </u>	<u> </u>		
	Abvolution Wellness						
		Provision of one(1) lifeguard at NTU Alumni House Swimming					
		Pool for a period of 2 years, commencing 1 Jan 19 till 31 Dec	4	778.75	3115	4.00	3115
		20 (Term 1)	4	110.13	3113	4.00	3113
		Provision of one(1) lifeguard at NTU Swimming Pool for a					
		period of 2 years, commencing 1 Jan 19 till 31 Dec 20 (Term 1) 4	778.75	3115	4.00	3115
		Provision of service on planning and conducting of fitness					
		classes (Zumba) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20					
		(Term 1)	1	110.00	110	1.00	110
		Provision of service on planning and conducting of fitness					
		classes (Pilates) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20	1	110.00	110	1.00	110
		(Term 1) Optional Item - Ad-hoc manpower to manage and supervise	1	110.00	110	1.00	110
		NTU Alumni House Gym (Term 1)	1	15.00	15	1.00	15
		Provision of manpower for the management and supervision of	f	13.00	15	1.00	13
		North Hill Hostel Fitness Gym at NTU for 2 yrs from 01 Jan 19					
		to 31 Dec 20 (Term 1)	24	4,500.00	108000	24.00	108000
		Provision of service on planning and conducting of fitness					
		classes (Kickboxing/Piloxing) at NTU for 2 yrs from 01 Jan 19					
		to 31 Dec 20 (Term 1)	1	110.00	110	1.00	110
		Provision of service on planning and conducting of fitness					
		classes (Boot Camp) at NTU for 2 yrs from 01 Jan 19 to 31		110.00	440	4.00	440
		Dec 20 (Term 1) Provision of service on planning and conducting of fitness	1	110.00	110	1.00	110
		classes (Dance) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20					
		(Term 1)	1	110.00	110	1.00	110
		Provision of service on planning and conducting of fitness	•				
		classes (Yoga) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20					
		(Term 1)	1	110.00	110	1.00	110
No	louor Fatanata						
	SUGF Enterprise						
		At NTU's option, to extend till 31 Dec 22 (Term 2, for a week)	2	0.00	0	0.00	0
		Provision of one(1) lifeguard at NTU Alumni House Swimming	-	0.00	· ·	0.00	· ·
		Pool for a period of 2 years, commencing 1 Jan 19 till 31 Dec					
		20 (Term 1)	4	0.00	0	0.00	0
		At NTU's option, to extend till 31 Dec 22 (Term 2, for every					
		subsequent hr)	2	0.00	0	0.00	0
		Draviain of ana/4\ lifedt NITH Coderation D. 15					
		Provision of one(1) lifeguard at NTU Swimming Pool for a period of 2 years, commencing 1 Jan 19 till 31 Dec 20 (Term 1) 4	0.00	0	0.00	0
		At NTU's option, to extend till 31 Dec 22 (Term 2, for a lot)	2	0.00	0	0.00	0
		. 2111 0 0 option, to oxiona an or 200 22 (10111 2, 101 a lot)	_	3.30	Č	0.00	J
		At NTU's option, to extend till 31 Dec 22 (Term 2, for a month)	2	0.00	0	0.00	0

At NTU's option, to extend till 31 Dec 22 (Term 2) Provision of service on planning and conducting of fitness classes (Zumba) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20	24	113,727.00	2729448	0.00	0
(Term 1) Provision of service on planning and conducting of fitness	1	150.00	150	0.00	0
classes (Pilates) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1)	1	150.00	150	0.00	0
Optional Item - Ad-hoc manpower to manage and supervise NTU Alumni House Gym (Term 1)	2	82.50	165	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2, Kickboxing/Piloxing)	1	150.00	150	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2, Yoga)	1	150.00	150	0.00	0
Provision of manpower for the management and supervision of North Hill Hostel Fitness Gym at NTU for 2 yrs from 01 Jan 19					
to 31 Dec 20 (Term 1)	24	115,728.00	2777472	0.00	0
Provision of service on planning and conducting of fitness classes (Kickboxing/Piloxing) at NTU for 2 yrs from 01 Jan 19					
to 31 Dec 20 (Term 1)	1	150.00	150	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) Provision of service on planning and conducting of fitness classes (Boot Camp) at NTU for 2 yrs from 01 Jan 19 to 31	1	150.00	150	0.00	0
Dec 20 (Term 1)	1	200.00	200	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba)	1	150.00	150	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2, Dance) Provision of service on planning and conducting of fitness classes (Dance) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20	1	150.00	150	0.00	0
(Term 1)	1	150.00	150	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2, Boot Camp) Provision of service on planning and conducting of fitness classes (Yoga) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20	1	200.00	200	0.00	0
(Term 1)	1	150.00	150	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2)	24	7,500.00	180000	0.00	0
Provision of service on planning and conducting of fitness classes (Zumba) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		0.00	
(Term 1) Provision of service on planning and conducting of fitness	1	60.00	60	0.00	0
classes (Pilates) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1)	1	60.00	60	0.00	0
Optional Item - Ad-hoc manpower to manage and supervise NTU Alumni House Gym (Term 1) At NTU's option, to extend till 31 Dec 22 (Term 2,	2	133.00	266	0.00	0
Kickboxing/Piloxing)	1	60.00	60	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2, Yoga)	1	60.00	60	0.00	0
Provision of manpower for the management and supervision of North Hill Hostel Fitness Gym at NTU for 2 yrs from 01 Jan 19	:				
to 31 Dec 20 (Term 1) Provision of service on planning and conducting of fitness	24	7,500.00	180000	0.00	0
classes (Kickboxing/Piloxing) at NTU for 2 yrs from 01 Jan 19					_
to 31 Dec 20 (Term 1)	1	60.00	60	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates)	1	60.00	60	0.00	0

Dreamatron Sports Marketing Pte Ltd

ALIVIT's option, to extend till 31 Dec 22 (Term 2, Boot Camp) 1		Provision of service on planning and conducting of fitness classes (Boot Camp) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba) At NTU's option, to extend till 31 Dec 22 (Term 2, Dance) Provision of service on planning and conducting of fitness classes (Dance) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20	1 1 1	60.00 60.00 60.00	60 60 60	0.00 0.00 0.00	0 0 0
Provision of service on planning and conducting of firmess classes (Yoga) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) At NTU's option, to extend till 31 Dec 22 (Term 2, for a week) Provision of one(1) lifeguard at NTU Alumni House Swimming Pool for a period of 2 years, commencing 1 Jan 19 to 11 dec. 20 (Term 1) At NTU's option, to extend till 31 Dec 22 (Term 2, for a week) At NTU's option, to extend till 31 Dec 22 (Term 2, for a week) Provision of one(1) lifeguard at NTU Swimming Pool for a period (2 years, commencing 1 Jan 19 to 11 dec. At NTU's option, to extend till 31 Dec 22 (Term 2, for a low) At		· · ·	1	60.00	60	0.00	0
At NTUs option, to extend till 31 Dec 22 (Term 2, for a week) 2 1,237.50 2475 0.00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0		Provision of service on planning and conducting of fitness	1	60.00	60	0.00	0
At NTUs option, to extend till 31 Dec 22 (Term 2, for a week) 2 Provision of one(1) lifeguard at NTU Alumin House Swimming Pool for a pent of of 2 years, commencing 1 Jan 19 till 31 Dec 20 (Term 1) 4 1,832.25 7329 0.00 0 At NTUs option, to extend till 31 Dec 22 (Term 2, for every subsequent hr) 2 16.00 32 0.00 0 Provision of one(1) lifeguard at NTU Swimming Pool for a peniod of 2 years, commencing 1 Jan 19 till 31 Dec 20 (Term 1) 4 1,321.88 5287.5 0.00 0 At NTUs option, to extend till 31 Dec 22 (Term 2, for a loot) 2 80.00 160 0.00 0 At NTUs option, to extend till 31 Dec 22 (Term 2, for a month) 2 5,200.00 14040 0.00 0 At NTUs option, to extend till 31 Dec 22 (Term 2, for a month) 2 7,300.00 175200 0.00 0 At NTUs option, to extend till 31 Dec 22 (Term 2, for a month) 2 7,300.00 150 0.00 0 At NTUs option of service on planning and conducting of fitness classes (Pilates) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 Provision of service on planning and conducting of fitness classes (Pilates) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 2 16.50 33 0.00 0 At NTUs option, to extend till 31 Dec 22 (Term 2, Yoga) 1 170.00 170 0.00 0 At NTUs option, to extend till 31 Dec 22 (Term 2, Yoga) 1 170.00 170 0.00 0 Provision of manpower to manage and supervise NTU Alumni House Gym (Term 1) 2 16.50 33 0.00 0 At NTUs option, to extend till 31 Dec 22 (Term 2, Yoga) 1 170.00 170 0.00 0 Provision of manpower for the management and supervision of North Hill Hostle Fitness Gym at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 150 0.00 0 At NTUs option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 At NTUs option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 At NTUs option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 At NTUS option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 At NTUS option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0		(Term 1)	1	60.00	60	0.00	0
Provision of one(1) lifeguard at NTU Alumin House Swimming Poof for a period of 2 years, commencing 1 Jan 19 till 31 Dec 22 (Term 1) 4 1,832.25 7329 0.00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	SPORTS AND WELLNESS PTE. LTD.						
20 (Term 1) Al NTUs option, to extend till 31 Dec 22 (Term 2, for every subsequent hr) Provision of one(1) lifeguard at NTU Swimming Pool for a period of 2 years, commencing 4 Jan 19 till 31 Dec 20 (Term 1) 4 Al NTUs option, to extend till 31 Dec 22 (Term 2, for a lot) 2 80.00 Al NTUs option, to extend till 31 Dec 22 (Term 2, for a lot) 2 80.00 Al NTUs option, to extend till 31 Dec 22 (Term 2, for a lot) 2 80.00 Al NTUs option, to extend till 31 Dec 22 (Term 2, for a lot) 2 Provision of service on planning and conducting of fitness classes (Zumba) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) Al NTUs option, to extend till 31 Dec 22 (Term 2, Yoga) Al NTUs		Provision of one(1) lifeguard at NTU Alumni House Swimming	2	1,237.50	2475	0.00	0
subsequent hry 2 16.00 32 0.00 0 Provision of one(1) lifeguard at NTU Swimming Pool for a period of 2 years, commencing 1 Jan 19 till 31 Dec 20 (Term 1) 4 1,321.88 5287.5 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, for a loot) 2 80.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, for a month) 2 5,200.00 10400 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2) 24 7,300.00 175200 0.00 0 Provision of service on planning and conducting of fitness classes (Pilates) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 150 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2) 1 160.00 160 0.00 0 Provision of service on planning and conducting of fitness classes (Pilates) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, for a month) 2 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, for a month) 2 1 160.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, for a month) 3 1 170.00 170 0.00 0 Provision of manpower for the management and supervision of North Hill Hostel Fitness Gym at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 170 0.00 0 Provision of service on planning and conducting of fitness classes (Kickboxing/Plioxing) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 150 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0		20 (Term 1)	4	1,832.25	7329	0.00	0
period of 2 years, commencing 1 Jan 19 till 31 Dec 22 (Term 1) 4		• • • • • • • • • • • • • • • • • • • •	2	16.00	32	0.00	0
period of 2 years, commencing 1 Jan 19 till 31 Dec 22 (Term 1) 4		•					
At NTU's option, to extend till 31 Dec 22 (Term 2, for a month) 2 5,200.00 10400 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2) 24 7,300.00 175200 0.00 0 Provision of service on planning and conducting of fitness classes (Zumba) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 150 0.00 0 Provision of service on planning and conducting of fitness classes (Pilates) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 Optional Item - Ad-hoc manpower to manage and supervise NTU Alumni House Gym (Term 1) 2 16.50 33 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Kickboxing/Plioxing) 1 170.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Yoga) 1 170.00 170 0.00 0 Provision of manpower for the management and supervision of North Hill Hostel Fitness Gym at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 24 7,200.00 170 0.00 0 Provision of service on planning and conducting of fitness classes (Kickboxing/Plioxing) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 170 0.00 0 Provision of service on planning and conducting of fitness classes (Boot Camp) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba) 1 170.00 170 0.00 0			4	1,321.88	5287.5	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2) 24 7,300.00 175200 0.00 0 Provision of service on planning and conducting of fitness classes (Zumba) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 150 0.00 0 Provision of service on planning and conducting of fitness classes (Pilates) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 Optional Item - Ad-hoc manpower to manage and supervise NTU Alumni House Gym (Term 1) 2 16.50 33 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Kickboxing/Piloxing) 1 170.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Yoga) 1 170.00 170 0.00 0 Provision of manpower for the management and supervision of North Hill Hostel Fitness Gym at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 24 7,200.00 172800 0.00 0 Provision of service on planning and conducting of fitness classes (Kickboxing/Piloxing) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 170 0.00 0 Provision of service on planning and conducting of fitness classes (Root Camp) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0		At NTU's option, to extend till 31 Dec 22 (Term 2, for a lot)	2	80.00	160	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2) 24 7,300.00 175200 0.00 0 Provision of service on planning and conducting of fitness classes (Zumba) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 150 0.00 0 Provision of service on planning and conducting of fitness classes (Pilates) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 Optional Item - Ad-hoc manpower to manage and supervise NTU Alumni House Gym (Term 1) 2 16.50 33 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Kickboxing/Piloxing) 1 170.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Yoga) 1 170.00 170 0.00 0 Provision of manpower for the management and supervision of North Hill Hostel Fitness Gym at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 24 7,200.00 172800 0.00 0 Provision of service on planning and conducting of fitness classes (Kickboxing/Piloxing) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 170 0.00 0 Provision of service on planning and conducting of fitness classes (Root Camp) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0		At NTU's option, to extend till 31 Dec 22 (Term 2, for a month)	2	5,200.00	10400	0.00	0
(Term 1) 150.00 150 0.00 0 Provision of service on planning and conducting of fitness classes (Pilates) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 160.00 160 0.00 0 Optional Item - Ad-hoc manpower to manage and supervise NTU Alumin House Gym (Term 1) 2 16.50 33 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Kickboxing/Piloxing) 1 170.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Yoga) 1 170.00 170 0.00 0 Provision of manpower for the management and supervision of North Hill Hostel Fitness Gym at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 24 7,200.00 172800 0.00 0 Provision of service on planning and conducting of fitness classes (Kickboxing/Piloxing) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 150 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 Provision of service on planning and conducting of fitness classes (Boot Camp) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba) 1 170.00 170 0.00 0		At NTU's option, to extend till 31 Dec 22 (Term 2) Provision of service on planning and conducting of fitness		7,300.00	175200	0.00	0
Term 1)		(Term 1) Provision of service on planning and conducting of fitness	1	150.00	150	0.00	0
NTU Alumni House Gym (Term 1) 2 16.50 33 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Kickboxing/Piloxing) 1 170.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Yoga) 1 170.00 170 0.00 0 Provision of manpower for the management and supervision of North Hill Hostel Fitness Gym at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 24 7,200.00 172800 0.00 0 Provision of service on planning and conducting of fitness classes (Kickboxing/Piloxing) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 150 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 Provision of service on planning and conducting of fitness classes (Boot Camp) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba) 1 170.00 170 0.00 0		(Term 1)	1	160.00	160	0.00	0
Kickboxing/Piloxing) 1 170.00 170 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Yoga) 1 170.00 170 0.00 0 Provision of manpower for the management and supervision of North Hill Hostel Fitness Gym at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 24 7,200.00 172800 0.00 0 Provision of service on planning and conducting of fitness classes (Kickboxing/Piloxing) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 150 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 Provision of service on planning and conducting of fitness classes (Boot Camp) at NTU for 2 yrs from 01 Jan 19 to 31 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba) 1 160.00 160 0.00 0		NTU Alumni House Gym (Term 1)	2	16.50	33	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2, Yoga) 1 170.00 170 0.00 0 Provision of manpower for the management and supervision of North Hill Hostel Fitness Gym at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 24 7,200.00 172800 0.00 0 Provision of service on planning and conducting of fitness classes (Kickboxing/Piloxing) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 150 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 Provision of service on planning and conducting of fitness classes (Boot Camp) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba) 1 170.00 170 0.00 0			1	170.00	170	0.00	0
North Hill Hostel Fitness Gym at NTÜ for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 24 7,200.00 172800 0.00 0 Provision of service on planning and conducting of fitness classes (Kickboxing/Piloxing) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 150.00 150 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 Provision of service on planning and conducting of fitness classes (Boot Camp) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba) 1 170.00 170 0.00 0		c c,	1	170.00	170	0.00	0
Provision of service on planning and conducting of fitness classes (Kickboxing/Piloxing) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1)		North Hill Hostel Fitness Gym at NTU for 2 yrs from 01 Jan 19		7 200 00	172800	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 Provision of service on planning and conducting of fitness classes (Boot Camp) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba) 1 170.00 170 0.00 0		Provision of service on planning and conducting of fitness	24	7,200.00	172000	0.00	U
At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates) 1 170.00 170 0.00 0 Provision of service on planning and conducting of fitness classes (Boot Camp) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba) 1 170.00 170 0.00 0		, , ,	1	150.00	150	0.00	0
classes (Boot Camp) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1) 1 160.00 160 0.00 0 At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba) 1 170.00 170 0.00 0		· · · · · · · · · · · · · · · · · · ·	1	170.00	170	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba) 1 170.00 170 0.00 0		Provision of service on planning and conducting of fitness					
		Dec 20 (Term 1)	1	160.00	160	0.00	0
At NTU's option, to extend till 31 Dec 22 (Term 2, Dance) 1 200.00 200 0.00 0		At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba)	1	170.00	170	0.00	
		At NTU's option, to extend till 31 Dec 22 (Term 2, Dance)	1	200.00	200	0.00	0

	Provision of service on planning and conducting of fitness classes (Dance) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20					
	(Term 1)	1	180.00	180	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2, Boot Camp) Provision of service on planning and conducting of fitness	1	170.00	170	0.00	0
	classes (Yoga) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20 (Term 1)	1	150.00	150	0.00	0
Abvolution Wellness						
	A4 NITH 11	0	840.00	4000	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2, for a week) At NTU's option, to extend till 31 Dec 22 (Term 2, for every	2		1680	0.00	0
	subsequent hr)	2	15.00	30	0.00	-
	At NTU's option, to extend till 31 Dec 22 (Term 2, for a lot)	2	60.00	120	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2, for a month)	2	2,200.00	4400	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2)	24	4,500.00	108000	0.00	0
	Optional Item - Ad-hoc manpower to manage and supervise		,			
	NTU Alumni House Gym (Term 1)	1	225.00	225	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2,					
	Kickboxing/Piloxing)	1	110.00	110	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2, Yoga)	1	110.00	110	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2, Pilates)	1	110.00	110	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba)	1	110.00	110	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2, Dance)	1	110.00	110	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2, Boot Camp)	1	110.00	110	0.00	0
Equip Fitness						
	Provision of service on planning and conducting of fitness					
	classes (Zumba) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20					
	(Term 1)	1	120.00	120	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2,					
	Kickboxing/Piloxing)	1	140.00	140	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2, Yoga)	1	140.00	140	0.00	0
	Provision of service on planning and conducting of fitness					
	classes (Kickboxing/Piloxing) at NTU for 2 yrs from 01 Jan 19					
	to 31 Dec 20 (Term 1)	1	120.00	120	0.00	0
	Provision of service on planning and conducting of fitness					
	classes (Boot Camp) at NTU for 2 yrs from 01 Jan 19 to 31					
	Dec 20 (Term 1)	1	120.00	120	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2, Zumba)	1	140.00	140	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2, Dance)	1	140.00	140	0.00	0
	Provision of service on planning and conducting of fitness					
	classes (Dance) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20					
	(Term 1)	1	120.00	120	0.00	0
	At NTI lie ention, to extend till 24 Dec 22 /Term 2, Dect Comm	4	140.00	140	0.00	0
	At NTU's option, to extend till 31 Dec 22 (Term 2, Boot Camp)	I	140.00	140	0.00	0
	Provision of service on planning and conducting of fitness					
	classes (Yoga) at NTU for 2 yrs from 01 Jan 19 to 31 Dec 20	4	120.00	100	0.00	0
	(Term 1)	1	120.00	120	0.00	0